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C/C++

// Written in C
#include <stdio.h)>

int main()
{
int t;
scanf(”%d”, &t);
for (int i = 0;1 < t,;i++)

{
int a, b;
scanf(7%d_%d”, &a, &b);
printf(”%d\n”, a + b);

1

return 0;

}

// Written in C++
#include <iostream)

using namespace std;

int main()
{
int t;
cin D> t;
for (int i = 0;1 < t;i++)
{
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int a, b;
cin D> a >> b;
cout < a + b <K endl;

}
return 0;
}
Java
thg oA TEE WA HAE Ao 20] ASE AL, 2 HIAE Fo] 2ol tis) £ P5E gJio
e 24

import java.util.=*;

public class Adder

{
public static void main(String[] args)
{
Scanner sc = new Scanner(System.in);
int t = sc.nextInt();
for (int i = 0;1 < t;i++)
{
int a = sc.nextInt();
int b = sc.nextInt();
System.out.println(a + b);
1
1
1

Qlojo] 32 4, Ak nhelo] o] F3t Fel o] Fo] AX|FoF Foll Fol5HIAL.

Contestants” Guide, Page 3 of 18



A 13| M= ofst T2 e o3| HE Sote| th3] — Sponsored by “AdbyMe, Inc.
2011 8& 13¢

ohS FE B} FolFu

Contestants’ Guide, Page 4 of 18



A 13] 2= cyst 2 ehal of3| it Sote| thE — Sponsored by “AdoyMe, Inc.
2011 8& 13¢

Problem A. A2t 12|7]

“AdoyMe, Inc. 9] QIE9l ALE 9 Heb o] MG L Qe RES A4 ofoF ek 9 Hebe AL
AAH7hYg mope] REES AT 93, TejAE AAZER ) o] W WMEA 1 REE T Zof Bsor

gt

TH, ALs ZEE At T I8 A Wl HAH T ol Aol Al 9] #rE 4 dod
Uz o] YAl FEsH 2AES dotdide (U A F 1| F 719 HEE dobd -9 wofl whet

AR S B X8 =

Al LiBeoll A oI5 ol¥ the] 2A 2 SAE A= A sttt

AMAR S olF= vl A & dofof Al Ao 7k Fol s of, vheiAl o 7i9) A s e R ass
2/g st

Input

Ao 7 o] HAE Ao|Ag FAHCL) ¢lglo] A o= 77} FoiHtt,

7t HAE AolAs 3H SR TREE F AN 42 AE Al o= oA, 7zt 199 A
ol 9ty ot HE}%XJ HuEO| uf 91Z 9] MAo] AuL (1,1)0]1, W Q2% o} gl FuL
(1000, 1000) oo}, BE FH= FEE Stof] 9251, 7+ o] 9]3]+= B E}EE}

Output
7t g ~E Ao] 2o el T Foll sy TS} FolA A ke b A & HO| 29} y RS B SR
FRsto] e,
Sample input and output

Standard Input Standard Output

55 30 10
57
75
30 20
10 10
10 20
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Problem B. Wooksin-ness of A Graph

At the headquarters of algospot.com, Toivoa “the chairman” has been pestering Astein “the slave” for a
new graph problem for so long. So Astein came up with the following problem.

Wooksin—ness(%419}) of an undirected graph G (V, E) is defined as the minimum number of additional
edges in order to have a cycle in the graph. Stated formally, you can write it as:

min ‘E, — E‘ st.E' D EandG (V, E’) has at least one cycle

However, loops (edges that start and end at the same vertex) and multiple edges between a single pair of
vertices are not allowed.

Write a program that calculates Wooksin—ness of given graph.

Input

The input consists of T test cases. The number of test cases T is given in the first line of the input.

The first line of each test case contains two integers V and E (1 <V <100,0 < E < 1,000), where V
represents the number of vertices in the graph, and E represents the number of edges. The vertices are
numbered from 0 to V' — 1. The following F lines will each contain two integers, which are the number
of two vertices connected by an edge.

There will be no loops in the input data. There will be at most one edge between a pair of vertices.

Output

Print exactly one line for each test case. The line should contain an integer indicating the minimum number
of additional edges we need to add to the graph to get a cycle. If this is impossible, print =1 instead.

Sample input and output
Standard Input Standard Output

N = © W N & W N
o N =, W oo - N
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Problem C. Run Run Run

In the world of Altertania, there is a large chessboard with N2 cells. The board has N rows and N columns;
rows are numbered from 1 to N starting from the top, and columns are numbered from 1 to N starting
from the left. Each cell (r, ¢) are located by its row number r and column number c.

With this ample real estate, chess pieces do not fight anymore and live peacefully together.

A knight wants to visit his friend rook for his birthday. He still has his horse with him, so he can jump
around like he used to. See the following diagram for the jumps he can make.

_
2

”/za///
//

However, he has a problem: his horse is old and lazy, so it will refuse to make more than a single move

/
/

N

%

each day. Alas! At this rate, he cannot make it before rook’s birthday.

Don’t despair, all is not lost. Some cells in this chessboard are converted to vegetable patches. At the start
of each day, the knight steps into a cell by a single move. If that cell has vegetable patch, he can feed his
horse some carrots and the horse will agree to make a few more moves that day. The number of additional
moves the horse can make is equal to the nutrition value of the carrot, which is an integer between 1 and
5 (inclusive). The horse will not eat carrots twice in a single day.

Write a program to calculate the minimal days the knight can reach his friend.

Input

The input consists of T test cases. The number of test cases T is given in the first line of the input.

The first line of each test case contains two integers N (4 < N < 1,000) and V' (0 < V < 10,000). The
second line contains four integers Ri, Ck, Rr, Cg (1 < Rg,Ck, Rr,Cr < N). The knight is currently at
(Rk,Ck), and the rook lives at (Rg, Cr). V lines will follow: each line will contain three integers R;, C;
and V; (1 < R;,C; < N,1 <V, <5).V; is the nutrition value of carrots from vegetable patch at (R;, C;).

There will be at most one vegetable patch in a single cell. The knight’s starting position will not be a
vegetable patch nor the rook’s position.

Problem C, Page 7 of 18
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Output

Print exactly one line for each test case. The line should contain an integer indicating the number of days
the knight needs to reach his friend.

Sample input and output
Standard Input Standard Output

N N = N uh, N W

—
I

-~ 0 R PM WWN - UA DN oMW
A S o0 B PM WA S BBEND - W
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Problem D. Z{3t2] Zitzt

Ak Aol efolut 7% Aet Ash Az PR ARt F 7 A 5o40] F2e Faf 79
AFEE 2 ol A A A A2 shd), Alste] opl 9} ol sl olef @ Al5HE SIaA AehaS @
Apek it o] Ahdzhe AT ARo] B0 AdE mafoleh, ofo]7} gl Wiz Zlo] YA LS Fof

et

At F7)7h Estel thgwt 2L thkel BOFoE PR ol el SEPERY] At

QLA LA, o] BAELE (21,01), (w2,30), - (7, v, (1,31) &) VHF HEG AR o= o]
el LAl 98 4 ol ooz FolHd,

o] dzto] BEoW Hol7k 00] Wi @elo] £5 Fatet. o, o] Azt 1 upge] YR EAshL
ANE Fattf Yoo §H-2 A7 i Ao it

Input

Je T A9 HAE Aoj2z 23t Aol A Folle 77 Fol et

7t 2E Ao 2o] A Pol Fghe o2& BAH] 4 N (3 < N < 100) ©] FolAth, 1 F N £
7t ZAHE] HE 2, i (0 < @iy < 100) 7F F ATk, ZH HAE Ao| A ghol A, 22 FH:o] HAHL
o

Jeo s Sofox] b

Output
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Sample input and output

Standard Input Standard Output

o - o -

w NN 2=, 00 =m0 BN

o 0 - - 0 o
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Problem E. 2}0|E Zi2}
.ot =5, ot R A7} Gl d slmalis 0% A A4 1o n]&E F shtel

= ofl, o] AR E 435 AdbyMe Inc. & I1& AAsH7] $Igt 2Hd-& A9 St DAdbyMe, Inc.

7} @A) ol Ao A, 2T FAuAT} o= wAlo] QA Mot T, 18 Y] Y6 A5
218 Aotk “AdoyMe, Inc. 7} Y4 A Ho| o)5tH Wl el uf$ Fot A

2o, @7 AN FHEAT) Qe 1A o A2 o5 Aok,

A “AdoyMe, Inc. £ @A 9 7127} 9l LA DW*M} UE EA, 283 Tt ol FE uff AA

Z 7FsAo] e BE TAlo] A YES w5t 1L Stk A =S B A YPES s 5]of FHE TAE BF
=iz}
Input

JHLe T o] HAE Ao|AR A" J o] A Pofl= 771 Fol Xt
Zt I AE Alo] A 9] A dFofli= LA 9] < 1,000), =A] Ztofl AAH Zo] 4= M (1 < M < 50,000)
1 Folzict O o3 M ol AZBH ZAS] WS A, 9 B; 7} F0] %1t E% 42 1 do7t &2 A, °lA B;
ol sote A& dolth. (1 < A4;,B; < N,A; # B))
d 7tz @A 1) T YRI5 9l FAEAE NH Ao f1A]5) Qlct, 1 TAOA NH ZA|Z2
o]F 7tsdt AR FIEA] 5

- -

o
v
o,
oz
I
N
e
i

Output
7} | AE Alo] Ao ti5] gt ol shby MAdbyMe, Inc. 7F AP ES iR Sofols EAIO] T E @2}
2 2,

sl

Sample input and output

Standard Input Standard Output

2 134
45 1235
12

21

13

34

4 3

56

12

13

25

34

35

45
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Problem F. Jubeat

Recently, Nana is spending a lot of time playing “Jubeat”, the latest arcade music game from Konami.
The game consists of a 4 x 4 grid. When a note pops up in some of the cells, the player must push that
cell following the rhythm of the music.

For each note pushed, the player is awarded points. If a song contains N notes, a player will receive
900,000/ N points if the timing of the push is perfect. For notes where the timing was less perfect, she
can receive either 70%, 30%, or 0% of this score. After the song is over, the sum of all the points will be

rounded down to the nearest integer.

Nana just played a song and received a score of S: however he doesn’t know the number of notes N in
the song. However, he suspects N lies in an interval [a, b]. Write a program that calculates the sum of all
possible Ns in that range.

Input
The input consists of T test cases. The number of test cases T is given in the first line of the input. Each
test case consists of a single line with three integers: S (0 < .S < 900,000), a and b (1 < a < b < 10%).

Output

Print exactly one line for each test case. The line should contain an integer indicating the sum of all possible
N in the given range.

Sample input and output

Standard Input Standard Output
2 7
128571 1 10 155
450000 11 20
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Problem G. 2%l

4duie Gl SAMAHL &9o] whet Aol 2, &, FulRe soldtt tats A45e] A4S
RO 2 A7 S5 ol S8 A 5 SIe. 4 0.8 018 5 2 kel £ Sl Wl
QAT BAA 02 £92 ul7)e Hol o Au9lT B718 HAY 4 7] tEo] 2915 Hl7) = B So]

ARFE A o] EAAME &

L L T ey

« Bba 0 B4E (2Rt 2L AAS AT F7ke] £ 11) 2 et
C Py 1 W] 2 SR 2 glo] Alof B F77E AL hrch £ Aol Jojgit

C Py 2. FeZo] ghe R AL Rohuch 2 4
F71E 22 AR oz Holstu], LudE 2o 75%% sulczol e %7% =

NAO] A AR Folm, ro2 KA A717h dereh ¢l A1 WMEA 1A
BEE 2 Frdo] AR b2 F7bo] shby FolAk FRolth AF7A| 150] A5
Fold ), o2 de K A7|0] Atel W HA0) 542 5 upy 2zfe] sl Taks L2 A4stet

Input

AL T o] HAE Alo|Az A" o] A Pofl= 77t Fol X

ZF HIAE Alo] A9 A o= F AL N (3< N <100), K (0 < K <1,000) 7} 3o g FLHE]o] Fo]7
ot o3 N g0l AR g Pofl osptH ZF 477t 58 7, 2, g Ut guo g LR Eo] ol

Zr g o] = 1,000 GA] Z=tt

Output
ZF HIAE Alo| o] ]| T dfo] Lo] oA S0 oA of uhet ZF =17te] Hh 1o 2 2 A 0] 545
o2 FHoto] 2o, b Wol nhrkAR Wy 20 whE M) 545 Fsth

—~

Sample input and output

Standard Input Standard Output

2 1222
41 1222
111 3111
010 17111
001

001

41

000

100

010

001

Notes

oA A H2E Aol B NA 2L gL AN WD 55 Taheets o 27b} ol

[EsS
PHoRE o & g 4 gl
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H2g teol ZAE 19171 2 5 9
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2241 AAZ Aeshs . el GAIRH. 7 Bol gt eh 290l M. 2 o & 7] ¥ste] 2597H9] %4
e AEYEU A HAZI] okt Gl ATje XS Robe | FRe] BE FWEo] 1

I H2F 25 AR Ado] Bzt 2ol M. 2 vrlo] AZSUTH 1 1Hl9] 1918 =] opiat
J. =] Yol HolE aEe LEE fEdUth S 27T 5ol 71 A oF Hol7|Ete 5t B0l 2o
AAA Aolm ZAE Qo L& 2 AlgtEe] I/ A Ayt
IR ol M. &2 tiet A Al o] A AlEA 822 7= “Nerdull-Nerdull-Han o] # i (o]s}
HUax)” & 7AWSYrt. 817 49 Nerdull 2 7H= e 2= 7158 9] uf-Q T 7.2 334 2hAbs7] w29
571 golgfQl FE= A% 719t S AtepA] Wy o) (SFX] gt 9z ¢F o off AL ofy g AR ol
FoJotAf.) M. 2 o] A& th23 o] Theslat 4= Qlot= AL A ST

. Sh5ol ZA5he NAS) 82 o Fo] BT Aol BE T2 4 > 09 o] ZAa.

2. A2y =091 Aoz A, YEdE = AW 919 & Aoz iy 4] oz gt

4. TLES BASE 15 FAS uet 1 9] EASHS RE FEe] AR o] Yo] Wag 1)
o 82 kgt 2k
[MEE o HEGY(= THLZRH AL Bol ot v1§)] x AL 759 4
M. 2 o] 241 4174 B4 GIrks 2 AAYA, $F £l H. 7h27] A7) ool FalolA At
WAGUS . G52 FA] 71005t oihe Bol AHst ] thee] T AASh Hg2 Thsd HaR

qelo] A Yol= By AA Q] A4 T7} Fol WUt
ZF B3 AAT 42 9ol | Qi o] Aot Y xe] Yres deRfs & 34 N (1< N < 500)
K (1<K < N7F3Hos pREo] Folhych 1 thg N9 e 729 945 vehdy
of ZF fntet (R 5o &F £ o FESQ F F5 Left; ©F Right; 7F 38 o2 FEE o] Fo|Hyu
1 < Left; < Right; < 10,000)

Output
ZF GaAA 9] | =] F 4 5 AA H-E= o el

=

)l

—~

ol

Pt

1%
i
1
s
v
hu
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Sample input and output

Standard Input Standard Output

w N = W w N = WwWw NN - W Ww
oo U1 W W Ul U1 W N U Ul W =
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Problem I. Turn off the Lights

Eunjin has a rectangular—shaped board of light bulbs. It is consisted of R rows and C columns, therefore

“, 9

there are RC bulbs in total. A light bulb can have either of two states: turned on (often denoted by “17)

)

or turned off (often denoted by “0”).

Wonha, a mischievous boyfriend, messed up her light board by turning on some bulbs. The other bulbs are
currently turned off. After Eunjin noticed his mischief, she decided to turn all the lights off using minimum
number of operations. The only operation she can do is to reverse the state of a consecutive sequence of
light bulbs in a row or column.

You must write a program that computes the smallest possible number of operations needed for her, to
make all the bulbs turned off. It is allowed that some light bulbs to be turned on during the whole process,
but after a sequence of appropriate operations, all the bulbs must be turned off.

Input

The input consists of T test cases. The number of test cases T is given in the first line of the input.

The first line of each test cases contains two integers R and C, which denotes the number of rows and the
number of columns, respectively, in the light board. Each of the following R rows contains a string of C
digits “1” or “0”. Each digit denotes the initial state of each light bulb after Wonha changed the state of
some light bulbs: “1” means the bulb is turned on, and “0” means the bulb is turned off. You may assume
that both R and C are not greater than 15.

Output

Print exactly one line for each test case. The line should contain an integer indicating the smallest number
of operations needed.

Sample input and output

Standard Input Standard Output
1 3
58
00100000
00100000
11011000
00100000
00111100
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Problem J. Lottery Games

You live in a lively town named Lottery Vegas where lots of different kinds of lottery games are available
for you to play. Next to your house, you found an interesting lottery game that is called Double ticket
winner ainu7 for the win, named after a really famous Miku—admirer.

The ainu7 lottery game consists of P different lottery tickets. The i—th ticket contains numbers between
1 and N, inclusive, and you are to pick M; numbers out of them. The ainu7 lottery game seller also picks
M; numbers while you are picking. For each lottery ticket, you win if you and the seller have at least
K; numbers in common with the seller. You can assume that the seller picks the numbers at random,
regardless of what you pick.

You are curious which of the P tickets gives you the highest winning odds. If there are multiple such
tickets with the same highest winning odds, you want to know them all.

Input
The input consists of T test cases. The number of test cases T is given in the first line of the input.
The first line of each test case contains a single integer P (2 < P < 100), the number of lottery tickets.

Following P lines contains three numbers each: N;, M;, and K; where 3 < N; < 50,1 < M; < N;, and

Output

For each test case, you must output a single line of integer(s). It must contain the lottery game number(s)
with highest winning odds. If there are multiple, you must sort them, and the game number is 1-based.

Sample input and output

Standard Input Standard Output
4
123456

w &~ N -
_ N

0 00 00 00O 00 0 0 N 00 0 0 W & N

NN NN NN
~N O o A W N -
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